DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

361) 8246 +~ 1 =

362) 2245 + (—1) =
363 617.82 =7 =

1640 131.6 = (=7) =
309 —474.54 +6 =
366) —17.4 +4 =

57 2901 + (=3) =
s68) 2750.7 + 3 =

309) 480.45 + 5 =

35700 —=20768 =4 =

s 80.72 +1 =

312 63.77 +1 =

313) —52272 + (—9) =
374) —23885 = (=5) =

w5 9291 = (—2) =

Mathematics: Division - Level 6 - Horizontal - Set 2
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—29845 = (—5)
11433 + (—3) =

—3475.5 -7 =

—7848 + (—9) =

469.68 = (—6) =

89 +1=

—24992 - 8 =
175+ (—-2) =
—150.3 + (=9) =
57+ (—10) =
—76.5+6 =

37630 = (—5) =
—30.32 -8 =
—32275 = (=5)

23008 + 3 =
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